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a)

c)

a)

c)

a)
c)

c)

a)
c)

a)

. Fafafed & 3 919 Re 9 nefoe ® o1 999

T Jui FHaT 72

Which of the following best describes the 'Natural
rate of unemployment’?

gUf IFIR 8 W T8 b) TG AP SR IEED
IR BIERQ Itisthe  ASHIR BT G AT B It is
rate of unemployment the sum total of frictional
when  there is  full and structural
employment employment

Tg 47 U 4 oMl U& d) Sugad # 9 G Al of the
FHR®! & HRU A1 g1 It above

is caused mainly by the
supply side factors.

aui & faavor & weu & Frafafed # & oF-a faww
e 87

Which of the following options is true regarding the
distribution of rainfall?

S-S §H YHE X@ ¥ b) Iy b I & A et

ydl A R Tgd O T IR U @ aifiiep
Nﬁwa@ﬁﬁ?ﬁ Wﬁaﬂffﬁ?ﬁ%coastal
St § as we proceed areas of the world receive
from the equator greater amounts  of
towards the poles, rainfall than the interior
rainfall goes on of the continents

increasing steadily

fay & Y- U S @ H d) ATGCEHI Both A& C
HEEIRI & avf B gl @

rainfall is less over the

oceans than on the

landmasses of the world

feR & I<9 U BT W TAET?

Name the state animal of Bihar?

P8R0 Blackbuck  b) ddd Chital

TR Gaur d) e Sl Red Panda

IRPAeol g A s @ gst &
AT & Haftra 31

Chiropterology is a branch of science which deals
with the study of

T Snakes b) ﬁ%’ Insects
foret Soil d) IHTGS Bats
AR Herd: fa yTeT &1 Wee 82
SGUI] b) BRI

LEG]] dy d@!

%maﬁwwthyq(msp)aﬂmﬁraﬁﬂm

Who recommends the Minimum Support Price in
India?

?f@f HATAT Ministry of b) W@H ?ﬁf ud
faerar

Agriculture

gt
9%
(NABARD) National Bank
for Agriculture & Rural
Development

c)

a)

c)

8.

a)

<)

a)

<)

10.
a)
11.

a)
c)

12.

a)

c)

13.
a)

14.

a)

P AN SR Hed SN d) I fEE omam

(CACP) Commission for (NCF) National
Agricultural Costs and Commission on Farmers
Prices

faerR ® yer ok gare el A R Ugal IR

PRIBRI 3R ATRAF FTT B AT HIA DI AT T

I E A

In Bihar, The scheme of separation of executive and

judicial functions was introduced for the first time on
in the districts of Patna and Shahabad.

1 9als 1951 1st July b) 3SR 1950 3rd January
1951 1950

31 A 1948 31st March d) 1 3@ 1955 1st April
1948 1955

efRad INHAT 1 aws :l

The author of ‘Industrial Democracy’ is

I AGSHIGE Ramsay b) 3fsgel  ®icg  Abdul

McDonald Conteh

-1t 99 Sidney Webb  d) Tg®I& &M Muhammad
Khan

TS Tier T R R B

‘Almatti Dam' is located on river.

&It Godavari b) HIA Kaveri

FWT Krishna d) =Hel Narmada
HITTe TRHATY # fir ghar 3

Isotopes atoms differ in

UieH Proton b) ?E'ﬁ Neutron

SAIGCH Electron d) @HI1 3R 3 Both 1and 3

=3 Wi & gremare &1 vade = a1 wirar 82
ST e b) %% THf
NECERICH d) BRI I s=F

Go corona go and never come back.' 39 9T BT
Iuga fa=t ergare s faweu g -

T3 BRIAT Sl 3R b) 3 HRIAT 3y 3R Hft
S aTu AT ST CIERERRTICIT

3 HRAT TSN 3R U d) 3 HRMAT M3 3R B
Td 3| g Hd S|

T ¥ e quf & forg walfires Suge wsg 82
U<IUS b) TTIR
FRER d) gy

e FAfda 3afy & = I 1 Winifere
Wt F oraR Saried AWt R ATE Sfik Jarsi w1
Fd Hifsd e g

is the total money value of all final goods
and services produced within the geographical
boundaries of the country during a given period of
time.

THSIUT (NDP) NDP b) Sheldl (GDP) GDP
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c)

15.

a)
c)

16.

a)
c)

17.

a)

c)

18.

c)

19.

a)

c)

20.

c)

21.

SHEAUT (GNP) GNP d) TATAY (NNP) NNP

15 THA&UN BT TRRVT 9 71 A YOS wddeon &t 3 &
fauiora fear s, @ oRomdt wideot o1 wF®
faae= (sp) fara=n g

The variance of 15 observations is 9. What will be the
standard deviation of resulting observations if each
observation is divided by 3?

1 b) 2

3 d) 4

TP "WYY AT $PIY, BET WA & FHAH
F IR T AT 7

One 'Atomic Mass Unit’ is a mass exactly equal to the
of the mass of one carbon atom.

1/8di 1/8th b) 1/16df 1/16th
1/12 4 1/12th d) 1/4di 1/4th

fora taafa afer &) Trefie aeEr W FET ST e?

Which Five-Year Plan is also called as 'Gadgil Yojna'?

Ugell Uadifa AT First b) gas! Uaaf

Five-Year Plan IS Second Five-Year
Plan

Tt daraeifa AT Third d) el PECL

Five-Year Plan OISl Fourth Five-Year
Plan

AHTUT F Ugd ST FHTUTT B &2

Who was the first Deputy Speaker of Lok Sabha?
TH 3HqOET SRR M. b) St df HEddR GV

Ananthasayanam Mavlankar
Ayyangar
d IoFUEERT ¢ d) S gddacd! JUGUE Dr.

Rajagopalachari

fFafafaa & ¥ 1 9fhe PRS &1 9949 S
Select the demand- pull factor(s) from the following?
3T SIESI  Rising b) PR H gfa Tax increase
Population

TRINd gl # 3G d) 99 J G Rise in wages
Increase in administered

prices

Sarvapalli Radhakrishnan

3 UTSY P 3R Q UF-H1Y U& ¢ o1 8 fie & W aopa
8 9Ia® P, Q 3R R TH-91Y I ¢F 3l 4 e & W
W | UTSU R §RT 3(&dl S9 ¢ &I A § forar man
HHY [T $Y?

Two pipes P and Q together can fill a tank in 8 min
while pipes P, Q and R together can fill that tank in 4
min. Find the time taken by pipe R alone to fill the
tank.

8 e 8 min b) 10 fFE 10 min
12 T8 12 min d) 15 e 15 min
Choose the option that is the correct active/passive

form of the given sentence.
It is to be read by me.

a)
c)

22.

a)
c)

23.

a)
c)

24.
a)

c)

25.

a)

c)

26.

a)

c)

27.

a)

28.

I am reading it. b) lam to read it.

| have started reading it. d) | will read it.

e eR #Y WRa o1 'faew Rt ot w1 ST 32
Which city is also referred to as the 'Silk City' of
India?

HITTYR Bhagalpur
61\??]'3? Hajipur

'x' & TR B x2/loge x BT GHAH/GT AT B2

Find the derivative of x?/loge x with respect to 'x'.

b) UCHI Patna
d) TYS Madhubani

x[2logex + 1]/{logex}? b) x[2logex - 11/logex
[2logex - 11/{logex}? d) x[2logex - 1]/{logex}?
PR fPY FTAYRT & Hfd 82

EIRtiniE b) DeHnif

et d) PHOMERT

%adﬁ?aﬁ's'%?aﬁﬁﬁaﬁr@aﬁﬁaﬁq-masww

Which among the following statement about Earth's
Core is true?

qdl B SRS HIS b) FEXI DIS U P qIH! U
Fea-de @y ugdsn HgEnd s REafa g
 Inner core of Earth is YHT 8 The outer core

composed of a nickel-
iron alloy

spins at a different speed
than the rest of the
planet

®e T S & fIU d) gt W Fe BT 90%
el ol 1 e BT B W UG § 90% of
WW%TM the Sulphur on Earth is
decay of radioactive found in the core

elements is the only
contributor to heat in the

core
HRA BT 3T o-Ra g1 fyatfa faar
ST 3|

The Attorney-General of India is elected
by .

YYHEAT Prime Minister  b) T¥Ufd President

HRd & g8 d) YRd & AR
IR Chief Justice of S-Rd  Solicitor general
India of India

39 v &1 A9 Farsg ford o smaiievor wifed
IR nfaw ot 82

Name the ray that has the low ionising power and
kinetic energy from the following?

D-Wa-rays. b) D-WB-Rays
O - faxuory - Rays d) X- ﬁv_\’"UTX-Rays

fpaq SrenT-3reT aHHl A, 4 ASHI Bl 12 FSHI A A
AT Tt & R % 2 iy & sdm g7 o §2
In how many different ways, 4 boys can be selected
out of 12 boys such that 2 particular boys are always
selected?
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a)
c)

29.

a)

c)

30.

a)
c)
31.

a)
c)

32.

a)

c)

33.

a)

c)

34.

a)
c)

35.

a)
c)

36.
a)

55 b) 45
65 d) 75

fFrafafae & 3 o9 e e (e & a9
Who among the following is the author of the book
"Hind Swaraj"?

JaeR qE b) 9@ TR fdd®  Bal
9% Jawaharlal Nehru Gangadhar Tilak
HigTa™ P d) GUW & I Subhas
et Mohandas K. Chandra Bose

Gandhi

Choose the option that is the correct indirect form of

the given sentence.

She will say, "I enjoy comedy movies".

She said that she enjoyed b) She will say that she
comedy movies enjoys comedy movies
She said that she enjoys d) She will say that she
comedy movies enjoyed comedy movies

I TR TG ]| I BT G IUYH el 3aTS 82
Ram goes home. b) Ram go home.

Ram go to home. d) Ram has gone home.

Identify the correct tense of the given sentence.

I will have been studying in this college for 2 years
tomorrow.

Perfect

Present Perfect Tense b) Future

Continuous Tense
Future Perfect Tense

frrafafed # @ #19-0 39 3o S IReE aHe IR &
TRId! 3R HIX HIRABISN T ATHHU Bl 82

Which of the following type of white blood cells
attack parasites and cancer cells in human body?

THA 5P 4d BIRGI b) TG

(Monocytes) Monocytes

SARFRAT

(Eosinophils) Eosinophils

Frafafea o 3 fea saf o geun ar fRiy ardt waan
31 faerT gam un

During which of the following periods did the
Harappan or Indus Valley Civilisation flourished?

IqUTNTOT GIT Neolithic b) T UM YT Mesolithic
ATIUMNIUT YT Chalcolithic d) YRTUTNIUI T Palaeolithic

ST wTfad et 31

gland secretes tears.

JUHT! U Parotid gland  b) WifAad U Pineal gland

d) Future Continuous Tense

d) &RDHIM
(Basophils) Basophils

tﬂ'{q‘jﬁ Pituitary gland  d) S{%Wﬁ‘\q Lacrimal gland
fER &1 v g1 Ui e T $19-91 82
BUIRAY Y REBR b) R ST AR

TgIed! R d) Iois UG RRER T E

(Lymphocytes) Lymphocytes

37.

a)
c)

38.

a)
c)

39.

a)

<)

40.

a)

<)

41.

a)

c)

42.

c)

43.

a)
c)

S FRR urit F 18 /e 31 i | &) F&ar § ok
YRT B Tf 12 fpeifi/der 8, A ag o frlt urT & wfagar
o= & ok yRfA® farg a@ a1ft e & o fran
HHY WM

Ravi can swim at a speed of 18 km/h in still water and
speed of the stream is 12 km/h, then in total how
much time he will cover 9 km upstream and return
back to starting point?

1.4 9¢T 1.4 hours
249l 2.4 hours

b) 1.8 ¥eT 1.8 hours
d) 2.7 49127 hours

Choose the correct tense to complete the sentence.

The car that | had purchased back then.
is very popular b) was very popular

were very popular d) has been very popular

YR wfem 9 Fafaf@e oy & 3 g9 3=,
I 3 SR T Gt forT SrgRpet et 37
Which of the following Schedules of Indian
constitution contains the Union list, State list and the
concurrent list?

AT Third b) ®al Sixth
rddi Seventh d) TIREd! Eleventh
gade B Wil gRI Pt s A

Electron was discovered by

IS 3HSIT  Roald b) SNBSS Archimedes

Amundsen

IS Slold  Rudolf d) SISl YfA¥H JJ. Thomson

Diesel

P1et 71 A g 9 g9 HfAed (Das Kapital) &1 ugen
WUs UHIRIa fosar

In which year Karl Mark published the first volume of
Das Kapital?

1845
1881

b) 1851
d) 1867

| 1912 # "HgTEdY faeures Rigia & wu o faa
IS b o Ur?

Who put forth a comprehensive argument in the
form of "the continental drift theory" in 1912?

3{dlgH b) Q_cﬁﬁ'q}faaﬁ:ﬁ Antonio
ffeferg Abraham Pellegrini

Ortelius

IS AR Alfred d) MR TSET  Arthur
Wegener Godman

S-S ATUHE HH ST ST 8, TP UTd HAed Bl
foggaufRiy - 71

The electrical resistance of a metallic conductor
gradually as the temperature is lowered.

EIEHT%’ Increases b) WE?IHT% Decreases

JgI X818 Remains same d) UeRIY & ATUHN W HIS
yde UM g g

%‘ resistance has no
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44.

a)
c)

45.

a)
c)

46.

a)

c)

47.
a)
c)

48.

a)

c)

49.

a)
c)

50.

a)

51.

a)

direct effect of
temperature
gl @Tﬂu QeTE &7 9ID! St I, Feiide R,

TgﬁlTﬁlTl
The flrst European, Vasco Da Gama of Portugal,
arrived at Calicut, in

1445 b) 1498

1550 d) 1585

Frafafeq aal § & fPad gaae dyar o1 s=ad
A §?

Which among the following element has the highest
value of electron affinity?

TIRA Fluorine b) TR Chlorine
S Bromine d) STEH lodine
Choose the correct synthesis of the following two

simple sentences from the options given below.
Combine the two to form one simple sentence.
Ravi went to the market. He bought oranges.

Ravi went to the market b) Ravi bought
to buy oranges. from the market.

oranges

Ravi went to the market d) To buy oranges, Ravi
and bought oranges. went to the market.

W BT yAaardt T8l 82

UG b) Ug

1A d) Mg

Select the word which means the same as the group

of words given below.

A lover of mankind
Opponent b) Polyglot

Philanthropist d) Philogynist

FHER F ¥ 1857 & fI5le & qoM I fafew
SHTRBTEY BT AT UT?

Name the British officer who suppressed the 1857
revolt in Kanpur?

Jo Wellesley
Hifed  Huad
Campbell

g fram & eguR, Fafaf@a A sa-ara (A +
AB) ¥ TUIH 8?

According to Boolean Law, which of the following is
equivalent to A (A’ + AB)?

(AB)' b) A+B

AB d) (A+B)

YR $T Ggx ofaoft iR Fgr It sfefi=r fvamn 82
What is Southernmost and Northernmost Latitude of
India?

8 f&ift 4 fire <féror iR b) 7 T3l 4 fme 2féror 36
37felie eI 8 folt 6 fiie SR 7

Degree 4 Minute south Degree 4 Minute South

b) fA®I® Nicholson
Colin d) EFETW Hugh Rose

c)

52.

a)

c)

53.

a)

c)

54.

a)

55.
a)
<)

56.

a)

c)

57.

a)

c)

and 37 Degree 6 Minute and 36 Degree 6 Minute
North North

8fEfi4 e SR 3R36 d) SWe@ H T i
&t 6 e I 8 T8I None of the above
Degree 4 Minute North

and 36 Degree 6 Minute

North.

fFrafafea & & $-3 gear 19 & wasd F s &
IR fod | 9t 82

Which of the following events is associated with
Bismarck, a diplomat of the late 19th century?

Tl B UHIBRUT ltaly b) SHA THIHUT German

unification unification
FU ®ifd  Russian d) HIFAT & TG Crimean
revolution war

[x*-2, x=2]

! 2 i
TaFREF IR = 5 T2 X72

.!’x3 -2, ¥ = 2]

1 = § {
Find that functionf (x) = X *%  *72] s

x = 0 W &mﬁﬁb)mx=21ﬂ“€|ﬁﬁ
% Discontinuous at x = 0 % Continuous at x = 2
only

HId x = 0 W Tad d) Jd$F VF W Fad
® Continuous at x = 0 Continuous
only everywhere

frafafed & 9 $19 "9grae Tegyd ot Hifa” & forg
i ur

Who among the following was famous for "Policy of
Subsidiary Alliance"?

@S davd Lord Wellesley b) drs fiier Lord Minto
s faferm 8 Lord d) @ Saeel Lord

William Bentinck Dalhousie
8 & e quil @ e &7

35 b) 37

39 d) 41

Ryt quarstamie IaRid &
Fq ¥ gfvfa fear o 9w g1

The social system of the Indus Valley Civilisation can
be described as

TN UIRd 99 slave b) Gm%r TR
labor-based based

T SR color based  d) FHAMEIG! egalitarian
fogR &1 Tad U= S=EET are forar $iH-41 82

Which is the most densely populated district of

caste-

Bihar?
év_JI{Kaimur b) fRIG8 Sheohar
UeT Patna d) g&f  TEURY  Purbi

champaran
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58.
a)
c)

59.

a)
c)

60.
a)
c)

61.

a)

c)

62.

a)
c)

63.

wwgﬁ?-m:m::izm
TR b) areR

fooeR d) TSR

fay &1 ygen Ridfes wifes 1907 ¥ @IeTT
T YT

The world’s first synthetic plastic discovered in 1907
was

éih_c’l'lﬂ?:’ Bakelite b) TRIGIH Styrofoam
IKIIEEIE] d) <UAM Teflon

HIRSS Polyvinyl

chloride

e &1 faudtards v 82

I b) H

faam d) Tfaam

AR TN R baar g, AT ot R T g F
FUHTgar g, it F1 TS IR 7

Oil spreads on cold water but remains as a drop on
hot water is an example for .

3Gl §d  Adhesive b) FHioaRfe Capillarity
force

JgIolhd dd  Cohesive d) U§ dHId Surface Tension
force

faT 71T P BT IUART FXP HE1T TR P B ST U
Biferg|

a. $51T IATG &P
b. Sifaf¥ed I@Tg JYeb
c. qaT

d. famt s

Select the Central level taxes using the given codes.
a. Central Excise Duty

b. Additional Excise Duty

c. Service Tax

d. Sales Tax

a, b, d b) a b c
acd d abcd
fFafafae @ 3 e ud e ad &

F H_ | Ha SHE B HASY | SIOEEER [ TEs
A |gEE A g,

B | S@ExAH T Hd

c |wEriEm EI0I

D |=EmE aE Egd BIiE aRRl

Which of the following is not correctly matched?

5.no | Autobiography of Mughal Emperor | Historian/ writer

A |Humayun nama Humayun
B Akbamama Abul Fazl
C |Jahangimama Jahangir

D Badshah nama Abdul Hamid Lahaori

a)
c)

64.

a)

c)

65.

a)

c)

66.

a)

<)

67.

a)

c)

68.

c)

69.

c)

70.

a)

A b) B
C d) D

et weaa & Fafafea & 9 fow wmwe A e
gATE! (YR B FAD) IUTY RoT fomar um?

Which of the following ruler of Delhi Sultanate took
the title Zil-i-llahi (Shadow of God)?

TON-3g-aH FAGT b) -3¢
Ghiyas-ud-din Balban Ec_&jﬂﬁ'-‘ﬂ Shams-ud-din

[ltutmish
$qd-3a-aH d)y I FoII  Razia
NCEd Qutubfud-din  Sultana
Aibak

BT 3R = SASINGL DI BDISH? $d T MR FA
Wl & Hed BT =R B 71 HT A8 :

The difference between total expenditure and total
receipts except for loans and other liabilities is called:

JGHYT  °eT  Fiscal b) ol UeT Budget deficit
deficit
U ©eT  Primary d) JGRA  °ICT  Revenue

deficit deficit

3+7+13+21 + e+ (K2 + k + 1) P RIET

3+7+13+21 +...... + (k% + k + 1) is equal to:
3(k+ k + 1)/5 b) k(k®+ 3k + 5)/3
3k(k?+ 1)/5 d) 5k?(k + 1)/3

%ﬂﬁﬁaﬁq-wwqﬂhzuﬁwsﬁwﬁﬁﬂwﬁ

Which of these is not a feature of a perfectly

competitive market?

SR &1 YOI 99 Perfect b) Ua=T SR R &t

knowledge of the market AT Freedom of entry
and exist

fanfad d) BUERT SR fassams B
Idlg Differentiated S WA a Large number
product of buyers and sellers

AHa I9d ST A dieg R
Normal pH of Human blood is __.

10 b) 4
74 dy 11

Frafafea & & $1-ar sfs v 9t 1o S a@Rke
Which among the following personality is related to
Laws of planetary motion ?

E\ﬁIﬁPtolemy b) WCopernicus
. PR J. Kepler d) D YA Isaac
Newton

IEYT # APl gRT fra wew wTa fag o
&

How many members are nominated by president in
Rajya Sabha?

6 b) 10
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c)

71.

a)

c)

72.

a)

c)

73.

a)

c)

74.

75.

a)

c)

76.

a)

77.

a)
C)

12 d) 15
GEgad I ETA TR g 2l

Sound is transmitted in air as

ST TGl Transverse b) aa%%ﬁaﬁ Longitudinal
Waves Waves

faqgagEaa d)y gdidpd TH Polarised
Tt Electromagnetic Waves

Waves

Form a new word from the following word by using

an appropriate prefix out of the prefixes below.
Education

Un b) Dis

Mis d) Co

B TR N & A9 |t ST S g1
is also famously known as the

‘Laughing gas’.
UreRaw S b) ARcH
(K,0) Potassium Oxide

v

SIESIES]
(N,O) Nitrous Oxide

FEESIRY M d) B RTeRTgs
(CHCly) Trichloro (CO) Carbon Monoxide
methane

TS 3af & SR T 3 & WaR 3R 9188 F YAt

& d $ oo A1 BT SR 3
is difference in total value between
payments into and out of a country over a period.

ygef fac=h Fa=T FI b) YT " Balance of
Payments
IR HJA Balance of d) g U Balance sheet

Trade

Prafefad & & S-a1 frow figga i aege &
A UREARS f3pa1 &1 9o Fear o2

Which of the following laws describe the interaction
between electrically charged objects?

EIIE] P b) PER BT FGH  Kepler's
g Avogadro's Law Law

9 &1 FIFH Charles's d) Fel Eal
Law 99 Coulomb's Law
2011 @ FTRVAT & AR, 59 Is9 F mard
A 8?7

As per 'Census of population, 2011’, which state has
the least population?

Tl Goa by f&fdHH Sikkim
fSIRA Mizoram d) S3FPUMEd YRl Arunachal
Pradesh

FrafafEd & & oi=-a1 Aare HieH & w9 & wanT far
T w82

Which of the following Algae can be used in the form
of food?

T[T Anabaena

TENHE Alginate

b) HIARAT Chlorella
d) EIT\ﬁTﬁtFTCarrageenan

Mob. - 7737404085, 8209244090

78.
a)
c)

79.

a)

¢) SRS

80.

a)

c)

81.

a)

82.

a)

c)

83.

MeH f$a dw@s #I gaifus ulrg =182

TgTed! gt b) SIRIHR TS

T=f U d) frart 3R

EiE) TaTs rSTeik Vo e & g Ry
Mgl T HI-I1 FGo 7Tad 872

Given below is pair of the International Airports and
city served. Which among the following combination

is wrong?
SAYHTL AREU b) H&WWW
&l-_vRTI'gTC[ 3fgT- T Devi
UcHT Jaiprakash Narayan Ahllyabal Holkar Airport-
International Airport- Bhopal
Patna
MESHF d) WER JHHE  Ucd
HW@?I TR ogh AP AR S
Babasaheb SfeHaldlq Sardar
Ambedkar International Vallabhbhai Patel
Airport- Nagpur International Airport-
Ahmedabad

guiva a1 gaiey & T9g Gi Iqa1y fe@ar 81 98 e
fora o 3mefea @2

Sun looks reddish at the Sunset or Sunrise; this
phenomina is based on?

3Uqa Refraction b) U Eal
LA Scattering of
light

TRIGAH Reflection d) fa&gur Dispersion

fFrafafea % @« uyy siftmeet & ey § 9w 82
Which of the following one is TRUE about Animal
cells ?

Y SMHR | BT il b) diReT Uy ergufa
&1 Vacuoles are smaller 81 Cell wall is absent.

in size.

RGBT fd d) sTHITH Al of these

81 Centrosome present.

AT &7 BT T HH el 82

Which of the following orders of acid strength is
correct?

HOF > HOBr > HOI > b)
HOCI HOBr

HOF > HOCI > HOBr > d) HOIl > HOBr > HOCI >
HOI HOF

fFafafea & @ oH-w o ok swat uo=e fafy
Al 2

Which of the following organism and its
reproductive method is Correctly matched?

1SS~ il Bl [db Y Th b) 3(HIeT - TgladsT & gRI
R |/ W TRAR  $3 AIIA-DIRPBIE Th
DIRPT fAHTS & SR Fy fawiiord gielt

9% 3F& & FUH AT 8 Amoeba - Divide into
g Hydra- bud develops many  daughter cells

HOF > HOCI > HOI >
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c)

84.
a)
c)

85.

a)

<)

86.

a)

c)

87.

c)

88.

a)
c)

89.

a)

c)

as an outgrowth due to
repeated cell division at
one specific site
WRATSTH - B! Hiadl d) THR - DIRBT (AU &
B STER Tl §, PR Y dRM & wi B favfoa
3T ‘@W 3MY EIE?‘ﬁ @?ﬂ%l Yeast - Splits into
& Plasmodium - Put out two halves during cell
small buds that separate division.

and grow further

oo fay = wwiem ol smaifera forar war U

simultaneously by
multiple fission

eI b) U qeq

g d) Sergerf

TR &Y ufthar gRT fhd gerar wirar 82

Who is removed by the process of Impeachment?

RPYfd President b) HRd Eg
HEMIAdl  Attorney

General of India
YTHAT Prime minister d) XSTYT Governor

frafafea & & s9-w1 Hifa sma & safa =181 82
Which among the following is NOT a vertical of NITI
Aayog?

IR geied iR b) foem AR &R
UdYd  UHTT  Project G|
Appraisal and Frafag Development

Management Division Monitoring and

Evaluation Office
Iy AIRE T d) IuMieal faare  Farw
fdp™ IRME  National I
Institute  of  Labour JRTABIIT  Consumer
Economics Research & Disputes Redressal State
Development Forum

A9 IRR B 99 wt g5 S-A &2
Which is the longest bone in human body?
@'ﬂw Humerus b) IR Femur
fefad Tibia d) I Fibula

YRd & IR gdf fewdt o afdal & anfezr ot 7 waal
P B § HEUF ©, SUDI &I U A F
U H ST AT 52

Winter rain in the north eastern part of India that
helps Rabi crops is mainly known as?

feF® Chinook b) FHIASIRI Kalbaisaki
Hegldd Mahawat d) T Loo
TNPTER 7 &1 T 3 22

What does the 'Helicopter money' mean?

SHdI & dg gl gEn H b) galeik . # gfad
Y Eal Y91 Money printed in
fdaurl  Distribution of the Helicopter.

large sums of money

among public.

FAPIR Wed & U d) wRd @1 % fefia
ARf&d  F]  Money %@Iﬁiﬁﬂ Newly

90.

a)
c)

91.

a)

<)

92.

a)

c)

93.

c)

94.

a)

c)

95.

a)

c)

reserved  for
helicopters.

buying developed

cryptocurrency of India.

Choose the correct phrasal verb for the underlined
part.

The other woman began to protest,
girl interrupted.
cutin

fill in

but the

b) turnup
d) give away

sin 120 - cos 150

sin 150 - cos 120 HTHME g
sin 120 - cos 150
The value of 5in 150 - cos 120 js;
3 b) 1/V3
V3 d) 1/3

Convert the following sentence into interrogative
from affirmative choosing the correct option given
below.

It was a surprise for her.

Was it not a surprise for b) Was it a surprise for her?
her?

How was the surprise for d) Was she surprised?

her?

Frafafa & @ S19-ar Jad widh S & Aqe arar ugen
TN TATIE §?

Which of the following struggle is the first Non-
Cooperation Satyagraha lead by Gandhiji?

ORI b) SfgHCIdIG o
RRIVE Champaran XIgh Ahmedabad Mill
Satyagraha Strike

WSl TATE  Kheda d) YRd BIS! Sfigid-  Quit
Satyagraha India Movement

fFrafafea § & $19 URd & wgufa & g 1 Y
feamar 82

Who among the following administers the oath of
office to the President of India?

e S g F T b) YRA & Tdid AT B

TR Chief Justice of ~ T®F R  Chief
High court, Delhi Justice of supreme court
of India

HRA & UYMHA Prime d) YRd & IWIPUM Vice

Minister of India president of India

TP GPER AT IR 120 F. gfa s TR ST R |
G ok 37 9t Y 165.6 %. Ufer 6 URTN BT W W
a1, fihR gP™eR g1 Sifola @y wfa=ra J1a S|
A shopkeeper purchased some pencils at Rs.120 per
5 pencils and sold all of them at Rs.165.6 per 6
pencils, then find the profit percent earned by the
shopkeeper.

5% b) 10%

12.5% d) 15%

Mob. - 7737404085, 8209244090
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96. A G et Wfew & AR G & BIadRI
Y| ITPT I fH T A 22

a) I UG by feER

c) AL U dy faet

97. &t a¥g & senpa Bi¢ favuon & firg, favegor o1
faRITg= a1 e R Y faeus 96 a1 UR & JEUTd
BT ?1 39% oy wafta frgw BiA-wn 82
For relatively small deformations of an object, the
displacement or size of the deformation is directly
proportional to the deforming force or load. Which
is the related law for this?

a) P &1 95 Hooke's law b) SHIell BT
Jgid Bernoulli's
principle

¢) ged & Td & dRRT d) IRGA BT F9H Pascal's
98 Newton's third law law
of motion

98. You are here, | was looking for you in Agra.’ 33 9Tl
FT HIH SUYH 341 3gare F1 fawpea g -
a) M i dh adi € Hba b) omg onft ogf g & T
T R A ge 8T T TR H ¢ T |
c) oM el & & @ MU d) oM ¥l 7, H Fw W
SRT T §& 8T Tl YT SHTRTH €& a1 ATl

99. fom & A forget firem wEt Y &2

FH S | % A | GE g |

A e @ YRT 3R e
B fpdEa @ | YRd SR EA

c YeFaE T | uRa IR wfewE

Which of the following is not correctly matched?

S.no | Name of the border line | Countries concerned
A Durand line India and Afgl‘larlistan
B McMahon line Indian and China
C Radcliffe line India and Pakistan
a) A b) B
c) C d) SR & ¥ Pz a8l

None of the above

100. Choose the appropriate modal and fill in the blank.

Disha have completed the work before
going out.

a) ought b) can

c) must d) will
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